W‘ P N CR EEEMMEE2  ca—xy)
Mm [ HR—T(G)] FEER =1/355.8 BEZE =68.0% TH7R=BkHE /100[A EBk=-38388813&14

[# HR—T(G)] e =1,/2983 WEZE =62.0% THH=#EEHF /100E EIk=32388&14&14

Wi R R - - [RIEIER] 247 (B4 N—T(Q)] FEZEE =1/1198 FEZ =650% STHHK=EBHKE /20E ik =34388811&12
Wi{REATY—- -84
B{REHE- - BF—E et o WiEHAROHdER

W7 RS- AR THE S

FIN-T] TEL
| PR /ERRF-Y))
WEHE---EBED

[fF HR—T(G)] ( L 14/ F 13 {& /8C)
$E> 2R+ Off <LE5 BR--- 819 {E
< £ >16R---1,637 @ < F >16R---1531 {@

[#8 HR-T(G)]( £ 14/ F 14 @ /7C)
<k> 2R:-+ O0ff <LE> 8R--- 715 {@
< E>16R---1420f < F >16R---1,451 &

[#8 HR-T(G)]( £ 14/ F 14 @ /7C)

<k> 2R 0fF <Lk>BR--- 6271@
< E>16R--1253{8 <TF > 5R- - 438 {@

[SEEIET—V)
<SEBREEH= 7 E>

TR, [EAMHER] BvEY, [FHBEM] ToMHIZ¥ECET, Presented by TKC  (HREH b—& - /7« 3FFiarX)




